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tel: BEXE(Sgael3) (el &)
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
J| 210l At 18,014,231 17,623,819 390,412
Heegs(sSeaellla) 18,014,231 0 18,014,231
BRIE(SEg22IIZ) 17,506,036 0 17,506,036
sSe2eIIS2Z(WXl) 17,506,036 0 17,506,036
602 Ol X3 17,506,036 0 17,506,036
01 GIXI=2 17,506,036 0 17,506,036
Os&glla uxXl 16,939,987,000& * 14! 16,939,987
O8Iz Wl==2 0X 566,049
— A3 =2 X013 140,000,000 * 14! 140,000
—Hggdllz 100,000, 0003 * 14 100,000
—Met2e| o3 195,050, 0003 * 14 195,050
— 2= EIIS 100,000, 0003 * 14 100,000
—MEAEIS 30,999,000& x 14! 30,999
HEHAH XS (EE220IZ) 508, 195 0 508,195
sl 2(d=A22 X=) 508, 195 0 508,195
705 Ol=3Rcia4e 508, 195 0 508,195
02 Ol==30lXt&tet 508, 195 0 508, 195
OJIsg u=3 OIXX= 508, 195
— A3 = X013 45,288
J=dEEEIIZ 26,807,000 14 26,807
LoI=RX0I= 15,379,000 =14 15,379
JSEAEEDNIENPSasipIi= 3,102,000 =14 3,102
—HdEMIS 24,689,000 x 14! 24,689
—S2I|gLHI= 216,322,000 & *14] 216,322
—MESTtH=a 221012 12,382,000 =14 12,382
—M=t2elo =3 112,583,000 * 14 112,583
—=2=8EI3 85,893,000 *14] 85,893
—HEIEIS 4,765,000 =14 4,765
—ANZXEIZ 6,273,000 =14 6,273




